I can use addition and subtraction within 20 to solve word problems.
[image: http://b.vimeocdn.com/ts/294/663/294663404_640.jpg]		             [image: http://www.theschoolbell.com/Links/math/kidpix_add/add1.gif]                 [image: http://www.educatorsoutlet.com/images/products/105891DD.jpg]
Using objects					Using drawings			    Using equations





















CCGPS.1.0A1
Three Types of Addition and Subtraction Problems			CCGPS.1.OA.1 con’t 
	Result Unknown
There are 9 students. Then 8 more show up. How many in all?

9 + 8 = _____
	Change Unknown
There are 9 students. Some more show up. Now there are 14. How many students came?

9 + ___ = 14
	Start Unknown
There are some students. Then 8 left. Now there are 5. How many at the beginning?

____ - 8 = 5


I can solve addition word problems of three whole numbers with sums less than or equal to 20.
	
	
	
	
	

	
	
	
	
	



	
	
	
	
	

	
	
	
	
	



7 + 4 + 2 = 13
CCGPS.1.0A.2
I can apply 
properties of operations 
to add and subtract.
	Commutative Property of Addition
[image: https://lh6.googleusercontent.com/-RUKV1M8LDdA/TYVqhOwAgqI/AAAAAAAABS0/r1I0PJT-dNw/822.JPG]
	Associative Property of Addition
[image: http://www.mathwarehouse.com/dictionary/A-words/images/picture-of-associative-property-of-addition.png]


CCGPS.1.0A.3
I can understand subtraction as an unknown addend problem.
	4 - 1 = ____ is the same as ___ + 1 = 4





[image: http://1.bp.blogspot.com/_3cvpfoj7mb8/SwxPbgCcIiI/AAAAAAAAA_o/5li5rh0-2y0/s1600/Number+Line.png]
CCGPS.1.0A.4
I can use counting all, counting on and counting back to add and subtract.
	 (
1,2,3,4,5,6,7,8,9,10, 
1
1
)Counting All


[image: http://www.sas.upenn.edu/~kimg/images/stickfigure.gif]

4 + 7 = _____
	Counting On

 (
5,6,7,8,9,10,11
)






[image: http://www.sas.upenn.edu/~kimg/images/stickfigure.gif]


4 + 7 = _____
	 (
10, 9, 8, 7
)Counting Back


[image: http://www.sas.upenn.edu/~kimg/images/stickfigure.gif]

11 – 4 = ____



CCGPS.1.0A.5
I can add and subtract within 20. 
	Making Ten

8 + 7 = ____

8+2=10 so
10+5 more =15


	Decomposing to 10

14 – 6 = _____

14-4=10 so
10 – 2 more
= 8

	Relationships between Adding and Subtracting

15 – 7 = _____

7 + 8 = 15 so 15 – 7 = 8
	Creating Known Sums

7 + 8 = ___

7+7=14 so
14+ 1more =
15




CCGPS.1.0A.6
I can fluently add and subtract within 10.

[image: http://4.bp.blogspot.com/_4w5sqP13AsU/Sm4CVvoVv8I/AAAAAAAAFl8/5FbnXVvgIBI/s320/math+facts.jpg]		[image: http://hilgendorf.weebly.com/uploads/8/5/4/4/8544327/5819435.jpg?516]			[image: http://upload.wikimedia.org/wikipedia/en/thumb/e/e8/Lux_Products_Long_Ring_Timer.jpg/220px-Lux_Products_Long_Ring_Timer.jpg]

CCGPS.1.0A.6
I understand the meaning of = (equal to).
	TRUE

6 = 6
7= 8-1
5+2 = 2+5
	     = 2+0
	FALSE

8 = 3
9-0 = 7
4+1 = 6+2
   = 3




CCGPS.1.0A.7
 (
I know 5 plus 3 is 8.
 
So 8
 
minus 3 is
 
5.
)I can solve the unknown number in an equation.


5 = ____ - 3
CCGPS.1.0A.8
I can count to 120 from any given point.
 (
…
98, 99, 100, 101, 102… 101101….1
102, 103…
) (
..116, 117, 118, 119, 120
) (
…
.66, 67, 68, 69, 70….
 71, 72…..
)
 (
..43, 44, 45, 46, 47, 48….
)		
		


CCGPS.1.NBT.1
I can represent any number from 0 – 120.
[image: http://qph.cf.quoracdn.net/main-qimg-fa572d65ea1e521fb43fd2fd3ae7022b]				[image: http://2.bp.blogspot.com/_LSDW5rlz9FE/SfEujRVteBI/AAAAAAAAAzE/6Vh9a_HHrAc/s320/2.bmp]


111 = [image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_hundred.jpg]	[image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg]   [image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg]		               54 =  [image: http://www.adpic-images.com/data/picture/detail/Tally_marks_371087.jpg]																	          CCGPS.1.NBT.1
I understand that 
10 (ten) is the same 
as 10 ones.



[image: http://etc.usf.edu/clipart/48800/48856/48856_b010_stick_lg.gif]= ten
CCGPS.1.NBT.2a
I know the numbers 
11-19 are composed of a 
ten and ones.
[image: http://etc.usf.edu/clipart/48800/48860/48860_b014_stick_sm.gif] = 14
1 ten and 4 ones
CCGPS.1.NBT.2b

I know numbers 
10, 20, 30, 40, 50, 60, 70, 80, 90
equal tens and 0 ones.

[image: http://static6.bigstockphoto.com/thumbs/5/1/4/small/4153796.jpg] = 40		[image: 40 Sticks] = 40

CCGPS.1.NBT.2c
I can compare
two-digit numbers using < and >.

	LESS THAN
42 < 45
4 tens 2 ones < 4 tens 5 ones
	GREATER THAN
56 > 31
5 tens 6 ones > 3 tens 1 one


	
CCGPS.1.NBT.3
I can use place value understanding and properties of operations to add and subtract within 100.

CCGPS.1.NBT.4

CCGPS.1.NBT.4
There are 37 children on the playground. 23 more children join them. How many now?
	Using a hundreds chart:  Start at 37. Move over 3 ones to 40.
                            Move down 2 tens and land on 60.
[image: http://4.bp.blogspot.com/_jdKn-n_HSVc/S_bxCrfJ8KI/AAAAAAAADN8/uG247Xs7zkI/s1600/chart.hundreds.jpg]


	Using place value blocks:  Make a pile of 37. Make a pile of 23. 
                            Join the tens and get 50.
                            Join the ones and get 60. 
                       [image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg]                       [image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg]

	Using place value blocks:   Break apart 37 and 23 into 3 tens and 2 tens.
                             Break apart 37 and 23 into 7 ones and 3 ones.
                             Add the tens and get 50.
                             Add the ones and get 10 more to equal 60.
[image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg]  [image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg]   [image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg]   [image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_one.jpg]

	Using mental math:       Start at 37 and count 3 more to get 40.
                             Add 20 which is 2 tens. That makes 60.
[image: http://www.simtalk.com/news-2-you/monarch/graphics/Header-review.gif]

	Using a number line:       Start at 37.
                              Break up 23 into tens and ones (20 and 3).
                              Add 3 ones to get to 40.
                              Jump 10 to 50 and then 10 more 60.
[image: http://www.teaching.com.au/IBSStaticResources/Bo_Resources/MTA/IMAGE/LF224.JPG]


CCGPS.1.NBT.4
I can find 10 more or 10 less than a two-digit number without counting.
[image: http://4.bp.blogspot.com/_jdKn-n_HSVc/S_bxCrfJ8KI/AAAAAAAADN8/uG247Xs7zkI/s1600/chart.hundreds.jpg]
There are 74 birds. 10 flew away. How many are left?
        
 CCGPS.1.NBT.4
I can subtract multiples of 10 using knowledge of place value, properties of operations, and relationships between addition and subtraction.
                                           CCGPS.1.NBT.5
                                          CCGPS.1.NBT.5
There are 60 students in the gym. 30 students leave. How many students are still in the gym?
	Using a hundreds chart:      Start at 60. Move up 3 rows to 30.
[image: http://4.bp.blogspot.com/_jdKn-n_HSVc/S_bxCrfJ8KI/AAAAAAAADN8/uG247Xs7zkI/s1600/chart.hundreds.jpg]


	Using mental math:            60 – 30 = 30     [image: http://www.simtalk.com/news-2-you/monarch/graphics/Header-review.gif]

	Using place value blocks:       Build 6 towers of ten. Remove 3 towers.
                                 3 towers of 10 are left.
[image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg][image: http://www2.sd5.k12.mt.us/elrod/multiage/images/Base10_ten.jpg]


	Using a number line:         Start at 60. Move back 3 jumps of 10 each.
                                Land on 30.
[image: http://t0.gstatic.com/images?q=tbn:ANd9GcQ555iQbUVirpnqs1G5gDHCqltz4JYHW9poNJDVTGiNY15Q3tgBWzDs3jBpkQ]




                                         




                                         CCGPS.1.NBT.5

I can compare the lengths of objects using a nonstandard  measurement.
[image: http://www.thinkplaytoday.com/wpuploads/2012/03/use_peeps_units_nonstandard_measurement.jpg] The spoon is taller than the marker.
                                                                            

CCGPS.1.MD.1
I know that the length of an object is the number of the same size units without gaps.
[image: http://www.eduplace.com/math/mw/background/1/10/graphics/ts_1_10_wi-2.gif]

         
CCGPS.1.MD.2
I can tell time to the hour and half-hour.
[image: http://3.bp.blogspot.com/_4w5sqP13AsU/SuX5x8aAnTI/AAAAAAAAFxM/whSzuF1G6_Q/s320/clock.JPG]		[image: http://judyreece.com/Media/clock%20from%20Room%20108.jpg]		[image: http://www.helpingwithmath.com/printables/worksheets/time0130.gif]

[image: http://www.studyzone.org/testprep/math4/j/timeha2.gif]                             	[image: Digital Clock 11:00 Clip Art]                                   [image: http://www.biglearning.org/photo-clock5.jpg]

CCGPS.1.MD.3	
I can organize, represent, and interpret data with three categories.
 (
Ask and answer questions about the 
total 
number of data points.
) (
Ask and answer questions about 
how many more or less
 in one category than in another.
) (
Ask and answer questions about 
how many 
in each category.
)[image: http://www.studyzone.org/testprep/math4/e/readin6.gif]                        
                                                                   
                             CCGPS.1.MD.4	
I can describe objects in the environment using names of shapes and describe them using positional words.
                                                 [image: C:\Documents and Settings\Teacher\Local Settings\Temporary Internet Files\Content.IE5\SPYJ09YV\MC900048285[1].wmf]              			[image: C:\Documents and Settings\Teacher\Local Settings\Temporary Internet Files\Content.IE5\76SU0BUW\MC900048284[1].wmf]	    
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Review of CCGPS.K.G.1  
I know the difference between defining attributes and non-defining attributes of shapes.

	Defining attributes:
  A triangle has 3 sides.

    A triangle has 3 angles.
	Non-defining attributes:
     A triangle doesn’t have to be a
     certain color. 

     A triangle isn’t always in the
     same position.      



CCGPS.1.G.1  
I can create a new shape by combining flat and solid shapes.
[image: http://studentweb2.reinhardt.edu/psoe/chastain56338/CapstonePresentation/LessonPlans/PowerPoints/Attachment_Three_Combining_Solid_Figures_files/slide0005_image025.png][image: http://loving2learn.com/Portals/0/Super_Subjects/Mighty%20Math/Geometry/Shapes/More%20Pattern%20Block%20Pictures/More%20Pattern%20Block%20Pictures.GIF][image: http://lh5.ggpht.com/_CVvUspwsuKw/SoatGOOG03I/AAAAAAAABCY/DJhenNNrwIo/patternduck_thumb.jpg][image: http://www.bikudo.com/photo_stock/742096.jpg]


CCGPS.1.G.2  
I can divide circles and rectangles into halves, 
fo urths, and quarters.
	Halves
[image: http://www.mathgoodies.com/lessons/fractions/circles/circle_halves_white.gif]           [image: http://www.mathgoodies.com/lessons/fractions/circles/circle_halves_white.gif]
      


	Fourths or Quarters[image: http://www.mathgoodies.com/lessons/fractions/circles/circle_fourths_white.gif]

	


CCGPS.1.G.3  
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